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FFes Eic): 22K A 21 = A HEEAES HEAH 4 P S ES S 2R
1 i Bnz S MERL (—) 24110801021 45 g 22062 Lk 2015 1
2 7RV = YN S MERL (—) 24110802003 45 2 5 22062 Dskknrx001 1 2
3 7 Y= /N BB E XA (—) 24110802012 45 Kt 5 22062 1 %*kkkk%003 1 3
4 TR B A% S ERA () 24110801026 45 JAi 7 R % 22062 Dk 201 1 4
5 i B A% BB ERA (—) 24110801001 45 HIHA % 22062 L0234 5
6 A B A% SR HEWERL (—) 24110801006 45 X NI % 22062 Liksikikin 1618 6
7 A B A %R BEMERL () 24110802011 45 W 5 22062 1 #kkokkk£0538 7
8 B nz S HERL (—) 24110802001 45 £iE 5 22062 Ltk 0518 8
9 RN = YN HEMERL (—) 24110801009 45 ik IEAH 5 22062 Dkskknkx021 1 9
10 7RV = YN B MERL (—) 24110801007 45 EEhy 5 22062 Dkskkakx301 1 10
11 7 RVNI= YN S MERL (—) 24110802010 45 Sl 5 22062 Dk 1114 11
12 A EA BB ERA () 24110801028 45 TR 5 22062 1 #kksokokk0214 12
13 7 Y= /N HEMERL () 24110801018 45 M 5 22062 1 %*k3k%%%0017 13
14 TR B A% S ERA () 24110801022 45 5% % 22062 Lk 2016 14
15 YN SN (—) 24110802016 45 X 7R % 22062 Lk 0015 15
16 Tk B A2 ) BSEMERL (—) 24110801005 45 T4 s 2206225 Kk k%4018 16
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FFs 2] 22X A 21 1= VA HEEAES HEAH 4 P51 S ES g 2R
17 TR B A% HEMERL (—) 24110801012 45 AT 22062 Likskikik0517 17
18 7RV = YN BEAHERMN (—) 24110802006 45 BEA B 22062 1 *k3k%%%07 15 18
19 TR B A% R BEHERL (—) 24110801008 45 T T 5 22062 1 #kok k0213 19
20 7RV = YN BEAHERM (—) 24110801024 45 2552 B 220622% Kk x5k%3034 20
21 iR B A% BB E XA (—) 24110801004 45 ik J57 ot 5 22062 1 #kkok k2636 21
22 7 Y= /N AL (—) 24110801029 45 R B 22062 1 %kkkk5k%003 1 22
23 Tin B BB ERA (—) 24110801019 45 R 5 22062 1 *%k%%%0016 23
24 E7 VLS /N AL AL (—) 24110802014 45 %3 B 22062 1 *kk%%%0239 24
25 A B A% BB ERA () 24110802015 45 kAR % 22062 Dksknrx] 111 25
26 T B A %R HEMERL (—) 24110802004 45 £ 5 222426 %Kk 4555610 26
27 PRV = YN HEMERL (—) 24110801017 45 5K il 5 2206225 %k45%5%0016 27
28 7RV BB ERA (—) 24110801020 45 TR B 5B 2206023kk4545%0632 28
29 T B A BEHERL (—) 24110802008 45 2= % 22062 1 #kksok k0213 29
30 A EA BEMERL () 24110802002 45 S 5B 2206225 %k4545%0035 30
31 iR B A% BB E XA (—) 24110802009 45 R 5 22062 Lkskikik2515 31
32 A ELA 2SR HEMERL (—) 24110801014 45 B % 2206225 %k4545%1019 39
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s 2] L23:2X DA 2] =K DA HEIES A 4 P53 S e 515 2R
33 7 Y= /N B EXA () 24110801030 45 N 3B 22062 1 #sskskonsior 1659 33
34 T B A% R HEMERL (—) 24110801016 45 S 9 22062 Likskikik2615 34
35 RV = UN BB E XA (—) 24110801011 45 FihE 3 b 22062 1 %*kk%5%0012 35
36 TR B A% M ERA () 24110802013 45 N R % 22062 1 #kskk k50015 36
37 A EA BB ERA () 24110801013 45 K AH 5 22062 Lk 0012 37
38 Tk B A2 ) S (—) 24110801027 45 XIF2 5 22062 1 sk 2210 38
39 E/RVN= YN S HERL (—) 24110801002 45 e 5 2206225 kkkk4H%4518 39
40 A B A% SR AL (—) 24110801003 45 FENE 5 22062 Liskskskik0010 40
41 TR B A% S ERA () 24110801015 45 TR 5 220602%kkkkk5% 1819 41
42 TR B AR BB ERA () 24110801025 45 L 5 22062 Lk 2919 42
43 7 Y= /N B EXA () 24110801010 45 B 3B 2206023kt 151 2 43
44 TR B A% SR HEMERL () 24110801023 45 7K st 5 22062 Lkkrkik2014 44
45 RV = UN BB E XA (—) 24110802007 45 B S 5 22062 Ik 001X 45
46 TR B A% HEMERL (2D 24110802022 5 ERENE E‘q 22062 1 #sksokn ] 12X 1
47 7/ RVNI= YN BB E XA (2D 24110802025 5 ik £'8 22062 1 #kksok k026X 2
48 7 VNS /N &5 AERA (2D 24110803008 5 JE R 5’8 22062 1kskkksiorok (0222 3
49 7 RV = YN HEMERL (2D 24110803020 5 e 7 22062 2kkk4k% 3023 4
50 RV = UN S E XA (2D 24110803023 5 A% 7 22062 Ikt 2623 5
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